41 17\ 18 8 23\ 99 7
Beruuciantb (— — —) —+ (— — —) —+ -
18 36/ 65 7 49)749 6

Cxopslii moe3a 3a yac mpoxoauT 60 kM, a maccaxkupckuit — 40 kM.
OnpenenuTh pacCTOSTHUE MEXKTY ABYMS FOPOJIaMH, €CJIM U3BECTHO,
YTO CKOPBINA MOE3/ MPOXOAUT 3TO PACCTOSIHUE HAa 2 4 15 MUH
ObICTpee MacCaXHUPCKOTO

PemnTs ypaBHenue 23¥ 110 — 33%+9 4 33x+7 4 93x49 —

PemmTs HepaBencTso 22¥71 — 321 4+ 1 <0
B 0TBeTe yKakUTe CepeliHy MHTEPBANa PEICHUIA.

[Ipsimas y = —3x + 7 siBIsieTCs KacaTeNbHOU K rpaduKy QyHKIIMH
y = 18x2 — 15x + ¢ Haiinure C.

Haiigure Touky Mmakcumyma QyHKnn y = x2(x — 2) — 4

JIBoe pabounx, paboTasi BMECTE, MOTYT BBITIOJTHUTH paboTy 3a

12 nueit. 3a ckoyIbKO AHEH, paboTas OTACIBHO, BBITIOJHUT Ty
paboTy nepBbI pabounii, €ciiv OH 3a 4 JHS BBITIOTHSET TaKyIO Ke
4acTh pabOThI, KAKYIO BTOpOH 3a 3 nHA?

B npsiMoyTobHBIN TpeyroibHUK ¢ yriaoM 60° Briucan poMO Tak, 4To
ATOT YTOJ Yy HUX OOIIMI M BCE BEPIIMHBI poMOa JIe’KaT Ha CTOPOHAX
TpeyroyibHuKa. HaliTu anvHy 00JbIIero kaTtera, eciu JyInHa

Vi2
CTOpPOHBI poM0a paBHa —.

['unoTteHy3a NpsIMOYTOJIBHOTO TPEYTOJIbHUKA B 3 pa3a OoJblIe
MEHBIIIETO U3 KareToB. HailTu Meanany, IpoOBEICHHYIO K

THIIOTEHY3€, CIIM GO KaTeT paBeH 4v/2.

10.

B mwmHapuueckuii cocyn Hamumu 1000 cm® Bogel. YposeHb
BOJIBI TIPY 3TOM JIOCTUTAET BBICOTHI 20 cM. B XMAKOCTH MOJHOCTHIO
MOrpy3WiH AeTaib. [Ipyu TOM ypOBEHB KUJIKOCTH B COCY/IE O THSIICS
Ha 4 cM. Uemy pasen 00beM aetanu? OTBET BBIPA3UTE B CMS.

180

220

11.

Haiity 3Ha4enue BoIpaskenus x + Vx2 + 44x + 484 npux <
—22

-20

12,

Hatitn 3Hauenue Beipakerns (1 — logs40)(1 — logg40)

13.

K okpyXHOCTH, BIIUCAaHHON B paBHOOEIPEHHBIN TPEYTOIHHUK C
OCHOBaHHEM 8 U OOKOBOI CTOPOHOI 6, TPOBE/ICHA KacaTelbHasl,
napasuiesibHasi OCHOBaHMIO. HallT IMHy OTpe3ka KacaTesbHOM,
3aKJIFOYEHHOW MEX]Iy CTOPOHAMH TPEYTOJIbHHKA.

14,

m(4x—3)

Pemure ypaBHeHue sin =1 B orBere HanumuTe

HanOOJIBIITUN OTPUTIATEIHHBIA KOPEHb.

15.

Haittn 3HaueHne BbIpakeHUs

(mvVm3 4+ 5vm3 + mvV18 + 15&):% npu m =3

16.

Onpenenuts 00beM MPSMOYTOJIBHOTO MapajlieJenumesia, TiaroHaib
KOTOpOTro paBHa 13, a quaroHanu ero 60KOBBIX TpaHEl paBHBI

4+/10 u 3V17.

17.

Pemuth cucremy ypaBHEHHM Vxt VxTF 7= 4 B otBer 3anumure
y—x=

3HA4YCHUE Y




10.

11.

12.

13.

14.

15.

16.

17.

1,6

>

-0.75

144




1 | Tocalculate -2y 24+ G252, 7 1 12 |3 |4
18 36° 65 7 497 49 6 2 1,8 1,9 2,1

2 | Anexpress train covers a distance of 60 kilometers in one hour, whilea | | 1 2 3 4
passenger train covers 40 kilometers. Given that an express train covers | 270 | 270 | 260 | 240
this distance 2 hour and 15 minutes faster than a passenger train,
determine the distance between the two cities.

3 | To solve the equation 23%10—33x*9433x+7.93x+9—( 1 ]2 |3 |4

-15(1-3 |2 [0

4 | To solve the inequality 2% 1-3-2*1+1<0 1 |2 |3 |4
In the response, specify the middle of the decision interval. 06 [04 |03 |04

5 The video y=-3x+7 is a tangent line to the graph of the function | |1 2 3 4
y=18x2-15x+¢. To find the value of c. 9 |8 |6 |5

6 To find the maximum value of the function y = x?(x-2) -4 1 2 3 4

-1 |0 1 2

7 Two workers working together could do the job in about 12 days. So, if | [ 1 2 3 4
the first worker does the same amount of work in 4 days and the second |27 [22 [28 |29
does it in 3, how long would it take the first one to finish the job alone?

8 A rhombus is inscribed within a right triangle such that they share a | | 1 2 3 4
common angle of 60 degrees and all vertices of the rhombus lie on the | L7 119 |2 |18
sides of the triangle. Find the length of the larger leg if the length of the
diamond side is equal \%_3

9 The hypotenuse of a right triangle is three times the length of the || 1 2 3 4
shorter leg. If the longer leg is 432, to find the length of the median |3 [26 [24 |4
drawn from the vertex to the midpoint of the hypotenuse

10 | A cylindrical vessel was filled with 1000 cm? of water. The water level | | 1 2 3 4
reaches a height of 20 cm. The part was completely immersed in the | 180 | 200 | 210 | 220
liquid. At the same time, the liquid level in the vessel rose by 4 cm.

What is the volume of the part? Express the answer in cm?®.
11 | Find the meaning of the expression x + Vx2 + 44x + 484, if x<-22 1 12 |3 |4
22 |20 |-22 [-20
12 | Find the meaning of the expression (1-logs 40)(1-logg 40) 1 2 3 4
05 |-05 |2 1

13 | A tangent parallel to the base is drawn to the circle inscribed in an
isosceles triangle with base 8 and side 6. Find the length of the tangent
segment enclosed between the sides of the triangle.

14 | 7o solve the equation sin T3 _ 1 In the response provide the
largest negative value.

15 | Find the meaning of the expression

3 3 L 3mA1S e
(MVm? + 5Vm® +mv18 +15v2).———"~if m=3

16 | Determine the volume of a rectangular parallelepiped whose diagonal
is 13, and the diagonals of its side faces are 4\10 and 3V17.

17 Vx + Jx+y=4

To solve a system of equations {
y—x=7
In the response provide y
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